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ractions as decimals and decimals as fractions
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Write and evaluate expressions involving powers and exponents
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Simplify real number expressions by multiplying and dividing monomials
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Use the Laws of Exponents to find powers of monomials
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Simplify expressions involving negative exponents
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Use scientific notation to write large and small numbers

(251 9 b)) diadls i (JS S
1. 3.16 X 103 = 2. 1.1 X 104 = 13.2.52 X 105 =

(153 53 gelad) oo A 38 JS 2!

4. 43,000 = ' 5.0.0072 = | 6. 0.0000901 =
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Find square roots and cube roots
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1. V16 = 2. —\/484 = 3. V=36 =
\
|

4. +\ o = |

TV 5. —\256 = 6. V-0.25 =
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Solve two -step equations

(13 25) o (o @and .Adl) DY alaghl o JS o dvgl

1. 5=14a—7 2. 16 =5x— 9 3.3—8c=135
4—%)(—7:—11 5.15—\%=28 6. —3 —6x=29
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Solve equations with variables on each side
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1. 7a+10 = 2a | 2. 11x= 24 + 8x
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Solve multi -step equations

(13 aled)) Ll o Baond &I B alagdl o JS Jov sl

1. —12(k + 4) = 60 2. 8(3a + 6) =9(2a — 4)

3. %h—4(§h—3)=£h—6 4. 8(c — 9) =6(2¢c —12) — 4c
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Identify proportional and nonproportional linear relationships by finding a constant rate of change
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Use tables and graphs to find the slope of a line
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Use direct variation to solve problems
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Graph linear equations using the slope and y -intercept -
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Graph an equation using the x - and y-intercepts
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Write an equation of a line
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Solve systems of equations algebraically

(25 1 oLl L,_J_,_-,.. Al ¥ alagdl A 2] d—‘;-

1. y=x+5 2. y=x+12 ‘3.y=x—10 4. y=x+ 15

|
y= i y = —18 ‘ y=—12 y = 2x
|
| | |
| |
| | |
| |
| |
[ 1 ‘
5. y=2x — 3 6.y=zx ‘7.y=x+12 8. 10x + 3y =19
x+y=18 ' x + 4y =8 ‘ 4x + 2y = 27 y=2x+5
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Represent relations using tables and graphs

(1) gty Jloned! 3isr @8 il iy Jouor JSd B W0 US (e yic
(8, 5), (=6, =9, (2, 5), (0, —8)} 2 {(215 —115), (2, 15) (—1, 2‘5) (—1, —1‘—)}

2

X y y

% Y 8 1 x y

&3 I| 2
| 4 ,. J
| 1
-8 -4 0O 4 | 8x
-2 |1 0 1 | 2  x

_4 4

-1
-8
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Find function values and complete function tables
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4. f(x) = 6x — 4 Brfoo=5-2x 6. f0 = 7 + 3x
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Determine whether a function is linear or nonlinear
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1|a 37
2|d 38
3(b 39
4 | a 40 | -7/3
5|c 41 | a
6|d 42 | c
7| a 43 | d
8|c 44 | d
9|b 45 | b
10 | b 46 | c
11 | c 47 | a
12 | a 48 | a
13 | ¢ 49 | d
14 | d 50 | a
15 | b 51
16 | a 52| b
17 | d 53 | c
18 | d 54 | abd
19 | c 55| a
20 | b 56 | d
21 | c 57 | a
22 | a 58 | b
23 59 | d
24 | a 60 | b
25 | c 61 | b
26 | b 62 | c
27 | d 63 | a
28 | b 64 | b
29 (d 65 | a
30| b 66 | dihs [ dshs [ dshd suc [ 4>
31 | 7x-6=14 67 |als / bls / cpo
32 | 8+0.30x=11 68
33 | w=-3 69
34 | k=12 70 | d
35 | x=-8 71 |apo / bls / caeo
36 | c 72 | C,E,B,D,A
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